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(L)fEJEE:
(@) BV R SJAE O-10KPa » S5 b Loz (BT ~ 7 ~ f0) ~ Bt ~ B SCRAN A -
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(2) A P BEAI  PEEDE 100kPa 1L I » JREMEEAILE 2 L » SUApReib ot ~ st - Ab
3 BT B I RO R A -

3. [RELIIHT

HIAEERS 2RI ERy Py =RT
P: R EEE )] » Pa(N/m* )
2 BRI W T £



A (225 R=0.287 ki /kg - K)
GEEBERE 5 K

A~ EEBE:
1. EREE:
KRES : 761mmHg

YERE : 22.8°C

HEH : 107/04/09

960 RPM  BER:60V Bj :4A EAIDE ' 0.3KkW

SHEE Pl SHJEE Pl BHEEAN=Py(=P1-Ps) [ 7
= IR
(mm k) | (mm k) (mm )
1 13 9 1.7
5 14 9 7.6
3 1.4 8 6.6
4 1.4 8 6.6
5 14 7 5.6
5 13 7 5.7
7 1.4 6 4.6
3 13 5 3.7
SEAEE 1.4 7.4 6.0
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P 761 x 13.6 X 9.8

P=RT = 8T x @3+ 2zg) o otke/m)

JEVE PN e 2R

. 2gah _ Jz X 98 X599 0826
P 119

B &=

s
Q = AV, X 60 = e 0.32 x 9 x 60 = 38.2(m3/min)

HEBRZE E @ ]
L PrxQ  7.13x0.826x9.8x382 0.037(kW)
7 60x 1000 60 x 1000 e
EFERZE R Eh ]
_ PgxQ  114x0.826x9.8x38.2 0,006 (kW)
S 760 x 1000 60 x 1000 -
KA BRR
_Lr x 100% = 0.057 _ 12.3%
Nr = 7 0= 03 3%
ERRRRIER
_Ls x 100% = 0.006 _ 1.96%
s =7 °= o3 ~ 0
4
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HE 960 | 1010 | 1060 | 1110 | 1160 | 1210 | 1260 | 1310 | 1360 | 1410
RPM | RPM | RPM | RPM | RPM | RPM | RPM | RPM | RPM | RPM
SEILEER P/
7.40 9.60 [10.30|11.90|13.20|14.40 | 15.00 | 16.70 | 18.20
(mm )
SEHERRR Ps/
1.40 1.80 | 200 | 240 | 280 | 3.40 | 3.50 | 3.80 | 4.10
(mm )
SEEER A
h=P/ 7 (mm 6.00 7.80 | 830 | 950 |10.40|11.00 | 11.50 |12.90| 14.10
A
7es&E R
Iﬁgfg’%p 1.19 119 | 119 | 1.19 | 1.19 | 119 | 119 | 1.19 | 1.19
(kg/m*)
NVA ) V
Tf}iﬁ 9.0 10.3 | 106 | 11.3 | 119 | 122 | 125 | 13.2 | 138
& Q(m*min)| 38.2 436 | 450 | 48.1 | 50.3 | 51.8 | 52.9 | 56.1 | 58.6
A
?J%fv‘f;@jj 0.007 0.011 | 0.012 | 0.016 | 0.019 | 0.024 | 0.025 | 0.029 | 0.032
S
KB BRZE R
HREEZE R ) 0.038 0.056 | 0.063 | 0.077 | 0.090 | 0.101 | 0.107 | 0.126 | 0.144
Lt (kW)
MAER (V) 60 80 88 90 105 110 120 130 140
BAER (A) 4 4.5 4.5 4.5 5 5 5 55 55
T AR L
WAIIE 0.35 0.5 0.55 0.7 0.8 0.9 1 1.15 1.3
(kw)
VAL 3
%El)ﬁﬁgn 2.06 212 | 221 | 223 | 238 | 264 | 250 | 250 | 2.49
S 0
LR 7 S
’ é@;/)’—ﬁ%t%n 10.9 113 | 114 | 110 | 12.2 | 11.2 | 107 | 1120 | 111
T 0
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20
18
16
14
12
10

o MR o o

MATHR - G - IERCE - BRI GE

_‘_ﬁ‘;l)\lj]’—f{—‘ (kw) =l ER {mm) —i—i‘%ﬁlﬁﬁﬁ[a’p (%)

18.2

16.7

10.9

_$ $__ —p— *

11.2 11.2 10.7 11 11.1
74
0.35 0.5 0.55 0.7 0.8 0.9 1 1.15 iL.B
—e ———t —
38.2 436 45 48.1 50.3 51.8 52.9 56.1 58.6
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(1)

Ans B E AR RE By 23.6°C 0 Wi ENER %L By 757.7mmHg ~ JRfE R

50%
(2)

Ans :

7.4 % 0.826
_ 273+20  TTi36 + et x 38.2 = 37.44
QOsrp = 273 + 25.5 760 s

Q: E =

P: KREET]
Td : KRORE
P, x0.826
13.6
(KSR FELLEE 113.6+ 41 &5/ K%L EE 1 0.826)
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